BB B LR (R AOEHE 22 TR L LT 555)

resibil A= g N SE7/ ok = AT SRy
FTAE O B ERFE AR5 —4—17
AL Pk - K4 PdE HE sHR

R O TR (] B HL % O Fli FRTED e fii &
(Hat#E) (B3 A1 NNT7=0)
UNGES AR N ONRIIC B4 5 AR 0 [ 0 M[AEICHR 2 F AEREIC L D,
MY TREE N ONRIKIC BT 5 A3 T 0H 0 |20 FE + Hore I A 4L
g PEHIBERE & OIS - Wkl S 5 A 0 M 0 [[4EREE H -~ BAREE M 5K
W it SME DR~ 44 5 2
(%) e B0 T~ 5 B 60,000 T 5,000 M| BB
Z DAt Z o (GEEERA & OHEE - Baglic 2T 58 M) 0 H 0 M
/NEE 60,000 H4 5,000 M
i % Ak Rk it % fek Rk 30,000 [ 30,000 [[htaaskft FEE (faii. KiEGEVE)
SR M ONEAR~ D4 AR A 65, 000 [ 65,000 M| AE#qwE MR (ERGRE S Te)
TR 4 0 M 0 M
HEEW (%) Bt M 5,000 [1 5,000 [[%E#
BRESFREIC R T D T4 wEFY 60, 000 [ 60,000 HM|FZE
Z DAt Zoft ( ) 0 M 0 M
/NEE 160, 000 160, 000
UNCER EAICET DN 80, 000 [ 20,000 M|ANBEIC/RDEHEREICE D,
PLEN IS 5 A @ty 120, 000 [ 30,000 F[4F[HI2c 0 2 +— B RE F2R £ 4K
AR
Z DAl Zoft ( ) 20, 000 [ 5,000 M
/NGE 220, 000 1 55, 000 [
( ) Hre R EICET 2R 120,000 [ 120,000 FI[AELOYREZEHED 4 OnERFZERR)
( ) FHRE « XERICES B8 0 H 0 M[%E%
Z DO FERR Y ( ) N - TR 360, 000 [ 30,000 FI[APFZZEIC1% 2 2 IR IC L 5.
( ) Zofih ( ) 120, 000 H 10, 000 [
/NEE 600, 000 160, 000
& &t 1, 040,000 [ 380,000 1

KBFZOVWTIEFIRTH Y, BMCOVTITHEENI R LERZ N LE T,
SCHHESEEAE 1 AN 720 OB IIE R BHRDORSLO & > W AR D FHNE U ie ] Ak S &5t L5,

(ClE)



FEEH 1 H ST OFFHEEIZONT GLHp)

[1. FREFEEA 1 NG OEmEA4E]

<1 BFHREEE A >

(2R E) + TR E) + RS + [ZoMi#ERE ) =60,000 M-+160,000 M -+220,000 600,000 F=1,040,000
<25 XI5 3 SHAEFEE A >

(RSERA N + TEERFEY ) + [ZoMaERkE ) =60,000 [J+220,000 FI+600, 000 [J=880,000 M



